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Instructions:
EEAA.
LR

> For question numbers 1 to 10, each question had four choices (A), (B),
(C) and (D) out of which ONLY ONE is correct.
E1E10EF , SEFANERE : (A), B), (C)and (D) , BERE—
EE#RER , ZBIRD
£1E108F , BEENNEDM : (A), (B), (C)and (D) , BERE—
MNEBER , ZIETE D
> Question number 11 to 20 are of short answer type.
BN E20EREEE,
BN E20FNEES,
> Each question carries 10 marks.
BEEE 10 7
BEE S5 10 5


mac


1.
Find the remainder when P(x)=2x4-3x3+5x2-4x+7 is divided by x—-1.
R P(x)=2x4-3x3+5x2-4x+7 BREA(x—1)BIER B,

B H P(x)=2x4-3x3+5x2-4x+7 BREA(x-1)HI REL

(A) -7
(B) 7
(C)-5

(D) 5

Determine if the function f(x)=x3-4x is
B f(x)=x3-4x =2 :

BB f(x)=x3-4x =2 :

(A) Odd
FEHE

(B) Even
B
B



(C) Neither (A) nor (B)
TR AHB
TR AHB

(D) Can’t determine

If 19thterm of an A.P. is 544, 544" term is 19, nth term is equal to zero.
Find n.
BRESZBIINE19ER 544 , 544 1HR 19, FEnlER 0, FHHHn,

BESEZHBIINE19ME 544 , £544 MR 19, EnWE 0, BFHKE n.

Forthe data 3, 5, 1, 6, 5, 9, 2, 8, 6. the mean, median and mode are x, y,

and z respectively. Which one of the following is correct?



ZRBUTHIE3,51,6,5,9,2,8 6, HFHE, FUBERIEBTHIZRX Y
Mz, FBELTH—IRIER ?

ZRUT##E3,51,6,5,9,2,8, 6, HFHE, FNUHRRKTHIZX, Yy

M zo ERILAT W —IUEHR ?

(A)x=y+z
(B)x-y =z
(C)x+y=z
(D)x=y=z

In a relay race, there are six teams A, B, C, D, E and F. What is the probability

that A, B and C finish first, second and third respectively?

E—BELE K BABK3E K6 252 A B C D EMF, 55EA BHMC AL

BE. RENE=-BZHKEENRERMTE"?

E—ENT , BARSE, 2512 A B, C,D,EHMF, iFE A B C 5554

BE. RBNF=BTAREHNMERFTL?



Two concentric circles of radii a and b, where a>b, are given. The length of a

chord of the larger circle which touches the other circle is

mVZ1pE  EEmERCHAIbIRNE - Hehasb -
By RS EEEDNRAENENEER?

C)va? - b? LA TR D 2 R aFIoRIE O E > Erhasb -
D)2Va2-b? 53— EENEARNZNKESR ?

o~ o~ o~ o~

You have 10 different books, of which 4 are math books, 3 are physics
books, and 3 are chemistry books. In how many ways can you arrange
these books on a shelf such that all books of the same subject are
together?

RE10AXFTENE , EPEEARRESE  3ARYESE  3EARLES,
BEZOBHECELENIERET , EEAEHRENENSHRE—E"?

3

RE 10 AXTENS , HAEEARKESH , 3ARYES , 3EXRLEFH. #F

RIBEZLOMEEEXERHFIEES  EEMEHEENENBEBE—E?



(A) 5194
(B) 5184
(C) 5284

(D) 5294

If tanB+cotB=4, find tan26+cot20.
% tanB+cotb=4 , FIx i tan26+cot?8,
% tanb+cotf=4 , i3 i tan26+cot20,
(A) 14
(B) 15
(C) 16

(D) 18

If f(x)= x-IxV/IxI , then f(-1) is
£ f(x)= x-Ixl/IxI , HBRE f(-1) 2
£ f(x)= x-Ixl/IxI , BBA f(-1) B

(A) 1

(B) -2

(C)0

(D) 2



10.
If three numbers be in G.P., then their logarithms will be in
HE-EBFR—FLEI , BECHNEBE—
HEMBFR-FHHBS, BAENHONHZE—
(A) A.P.
LEHT
LEHT
(B) G.P.
ZFE5
ZFH#5|
(C) H.P.
HANH5
LRk el
(D) None of these
B E¥3E
B E¥3E



11.

Given that P(x)=x3+ax2+bx+c=0 has roots 1, -2, and 3, find the values of a,b
and c.

B P(x)=x3+ax2+bx+c=0 R ZE 1, -2, M 3, sFtkH a, b Mc.

B P(x)=x3+ax2+bx+c=0 R ZE 1, -2, M 3, FiHa bMc.

12.

Split 312 into three distinct numbers such that they are in A.P. and the product
of the two smaller numbers is 9880. Find the value of the largest number of

the A.P..

£ 312 7K 3BTRS , £15E 3 ABEA—FE=RI. HAFMEBDHH

HYSRIE A 9880, B AP HRANE.

£ 312 3K 3 MR, FEBIX 3N —FZH5. ERFmPBR/DEEK

HYSRIN 9880, HHHZEIPERAHHK.



13.
A problem in mathematics is given to three students A, B and C and their
respective probability of solving the problem is 1/2, 1/3 and 1/4. Find the

probability that the problem is solved.

— (A BREAER D EA A B C =BE | MM HEBENEIES B2
112, 1/13 MVao B HIEREBEH AR HAVBLR,

b=

—MRFRBRDELS A, B C =ZFE , Mib(]REHXBENHRERD 52

112, 113 MVao K HIX T AR HAVBLR,

14.

AB is a chord of length 24 cm of a circle of radius 13 cm. The tangents at A

and B intersect at an external point C. Find the length AC.

AB B—¥& 13 EXRMNEAMN , & 24 EX, H A M B MNTIER—/E C 4

R, i ACHERE,
AB B—¥&ZE 13 EXRXMNEARNZL , K24 EX, HAMBHNILT—HK CH

R, FHEH AC HKE.



15.

In how many ways can you distribute 15 identical apples to 4 distinct baskets

such that no basket is empty?

BEZLEREALNIE 15 BMEENERIEZENEFRNET , #ERFE

it

FRZER,

H

BEOMFETUE 15 MIENERIEENNTRENE T , EFXFE

If the median of x,x/4,x/5,x/3,x/2 is 8, find the value of x.
E XX4.x/5x/13x12 PN EZ 8, i xo

B X, X/4,x/5,x/13x12 RN EZE 8, iBHHE xo



17.

Find the value of cot5°cot100°........ cot859

SR H cot5ocot100........ cot85° Y BB,

EH H cot5ocot10e........ cot85° B .
18.

Find the area of square inscribed in a circle x2+y2-6x-8y=0.

# H RIER B x2+y2-6x-8y=0 M I[E 5 LR E &,
HHERETE x2+y2-6x-8y=0 BNIEHF FEHEH,

19.
Find the value of the infinite product 6'2x 612 x638x61/4............
AHRHEEREZRIEIE : 672X 612x6%8x6™4............

FHRHXTRIZRRIEE : 6'2x 612 x6%8x614............



20.

The three sides of a triangle have 3, 4 and 5 interior points respectively on
them. Find the total number of triangles that can be constructed by using

these points as vertices.

—BE=AFXN=828L75H 3,4 M5 @, FRUNELAREREXT ,
AREN=/ATNBE,

—MNZAENZLLFAE 3 4M54MR. FREAXEN[ENTRRT ,

AHEN=ATNERE,

END OF PAPER



